

## 4.2 Limits of functions

In this section, we prove

several theorems that

show how we can evaluate

combinations of convergent

functions.

We define

$$A \cap B'_\delta(c) = \{x \in A : 0 < |x - c| < \delta\}$$

Thm 1. If  $A \subseteq \mathbb{R}$ , let

$f: A \rightarrow \mathbb{R}$  and let  $c$  be a

cluster point of  $A$ . If

$f$  has a limit at  $c$ , then

there are numbers  $\delta$  and  $m_0$

such that if  $x \in A \cap B'_\delta(c)$ ,

then  $|f(x)| \leq m_0$ .

$$\text{Let } L = \lim_{x \rightarrow c} f(x)$$

2

Proof. Let  $\epsilon = 1$ . Then there

is a number  $\delta_0 > 0$  so that

if  $x \in A \cap B'_{\delta_0}$ , then

$$|f(x) - L| < 1.$$

By the Triangle Property,

$$\begin{aligned} |f(x)| &= |(f(x) - L) + L| \\ &\leq |f(x) - L| + |L| \\ &< 1 + |L| \end{aligned}$$

$\therefore$  Set  $m_0 = 1 + |L|$

Thm 2. Suppose that  $f$  and  $g$   
are functions defined on  $A$   
(except possibly for  $x=c$ )

such that

$$\lim_{x \rightarrow c} f(x) = L \quad \text{and} \quad \lim_{x \rightarrow c} g(x) = M.$$

Then

$$(i) \lim_{x \rightarrow c} (f+g)(x) = L + M$$

$$(ii) \text{ If } b \in \mathbb{R}, \text{ then } \lim_{x \rightarrow c} b f(x) = bL$$

$$(iii) \lim_{x \rightarrow c} f(x)g(x) = LM$$

4

(iv) If  $g(x) \neq 0$  and  $M \neq 0$ , then

$$\lim_{x \rightarrow c} \frac{f(x)}{g(x)} = \frac{L}{M}.$$

Proof of (i). Let  $\epsilon > 0$ . By the definition of the limit, there are numbers  $\delta_1$  and  $\delta_2 > 0$  such that

if  $x \in A \cap B'_{\delta_1}(c)$ , then

$$|f(x) - L| < \frac{\epsilon}{2}, \text{ and if}$$

$x \in A \cap B'_{\delta_2}(c)$ , then

$$|g(x) - M| < \frac{\epsilon}{2}. \text{ Now set}$$

$$\delta = \min \{ \delta_1, \delta_2 \}. \text{ If}$$

$x \in A \cap B'_\delta(c)$ , then

$$|(f(x) + g(x)) - (L + M)|$$

$$= |(f(x) - L) + (g(x) - M)|$$



$$\leq |f(x) - L| + |g(x) - M|$$

$$< \frac{\epsilon}{2} + \frac{\epsilon}{2},$$

which proves (i)

Pf. of (iii). Note that

$$|f(x)g(x) - LM|$$

$$= |(f(x) - L)g(x) + (g(x) - M)L|$$

$$\leq |f(x) - L| |g(x)| + |g(x) - M| |L|$$

By Thm 1, there are constants

$$m_0 = 1 + |L| + |M|$$

and  $\delta_0$  so that

if  $x \in A \cap B'_{\delta_0}(c)$ , then

$$|g(x)| \leq m_0 \text{ and } |f(x)| \leq m_0$$

Also there are constants

$\delta_1$  and  $\delta_2$ , so that

$$|f(x) - L| < \frac{\epsilon}{2m_0}, \text{ if } x \in A \cap B'_{\delta_1}(c).$$

and

$$|g(x) - M| < \frac{\epsilon}{2m_0}, \text{ if } x \in A \cap B'_{\delta_2}(c)$$



Now set  $\delta = \min \{ \delta_0, \delta_1, \delta_2 \}$ .

If  $x \in A \cap B_\delta(c)$ , then

$$|f(x), g(x) - LM|$$

$$\leq \frac{\epsilon}{2m_0} \cdot m_0 + \frac{\epsilon}{2m_0} \cdot m_0$$

$$\leq \frac{\epsilon}{2} + \frac{\epsilon}{2} = \epsilon,$$

which proves (iii).

Pf. of (iii). This follows from

(iii) by setting  $g(x) = b$  for

all  $x \in A$ .

Pf. of (iv). We first show

that if  $\lim g(x) = M \neq 0$

and if  $g(x) \neq 0$ , then

$$\lim_{x \rightarrow c} \frac{1}{g(x)} = \frac{1}{M}. \quad \text{The general}$$

case follows from (iii) by

using the Product Rule.

We need the following:

Proposition. If  $\lim_{x \rightarrow c} g(x) = M$ ,

and if  $M \neq 0$ , then there is  $\delta_0 > 0$

so that if  $x \in A \cap B'_{\delta_0}(c)$ , then

$$|g(x)| > \frac{|M|}{2}.$$

Pf. Set  $\epsilon = \frac{|M|}{2}$ . Then

there is  $\delta_0 > 0$  so that

$$|g(x) - M| < \frac{|M|}{2}, \text{ if } x \in A \cap B'_{\delta_0}(c)$$

Hence,

$$|g(x)| = |M + (g(x) - M)|$$

$$\geq |M| - |g(x) - M|$$

$$\geq |M| - \frac{|M|}{2} = \frac{|M|}{2}.$$

Now we can prove the

Quotient Rule. Since we

just showed that

$$\frac{1}{|g(x)|} \leq \frac{2}{|M|} \quad \text{if } x \in A \cap B_{\delta_0}^c(c),$$

we get

$$\left| \frac{1}{g(x)} - \frac{1}{M} \right|$$

$$= \left| \frac{M - g(x)}{g(x)M} \right| \leq \frac{2}{|M|^2} |M - g(x)|$$

Let  $\epsilon > 0$ . Then there is  
 a  $\delta_3 > 0$  so that if  $x \in A \cap B'_{\delta_3}(c)$ ,  
 then  $|g(x) - M| < \frac{M^2 \epsilon}{2}$

Set  $\delta = \min \{ \delta_0, \delta_3 \}$ . Then

$$\left| \frac{1}{g(x)} - \frac{1}{M} \right| \leq \frac{2}{|M|^2} \cdot \frac{M^2 \epsilon}{2} = \epsilon$$

This proves (iv).

Ex. Evaluate  $\frac{2+x}{3+x+3x^2}$

Note that  $\lim_{x \rightarrow 0} x = 0$

$\therefore$  By (i)  $\lim_{x \rightarrow 0} (2+x) = 2+0 = 2$

and by (ii)  $\lim_{x \rightarrow 0} x^2 = 0^2 = 0$

and so by (iii),  $\lim 3x^2 = 3 \cdot 0 = 0$

$\therefore$  By (i),  $\lim (3+x+3x^2) = 2$



Finally by the Quotient Rule

$$\lim \frac{2+x}{3+x+3x^2} = \frac{2}{3}.$$

As noted above.

$$\lim_{x \rightarrow c} x = c,$$

$$\lim_{x \rightarrow c} x^2 = c^2$$

⋮

$$\lim_{x \rightarrow c} x^k = c^k$$

Moreover

$$\lim_{x \rightarrow c} ax^k = ac^k.$$

By the Sum Rule,

$$\begin{aligned} & \lim (a_n x^n + a_{n-1} x^{n-1} + \dots + a_0) \\ &= (a_n c^n + \dots + a_0) \end{aligned}$$

Thus if  $P(x)$  is any polynomial,

$$\text{then } \lim_{x \rightarrow c} P(x) = P(c).$$

$$\text{and } \lim_{x \rightarrow c} Q(x) = Q(c)$$

↑ another polynomial

and so, if  $R(x) = \frac{P(x)}{Q(x)}$ ,

then  $\lim_{x \rightarrow c} R(x) = R(c)$ ,

provided that  $Q(c) \neq 0$ .

---

Many of the results for sequences carry over to functions.

**Thm.** Let  $A \subset \mathbb{R}$ , let  $f: A \rightarrow \mathbb{R}$ , and let  $c$  be a cluster point of  $A$ .

If  $a \leq f(x) \leq b$ , for all  $x \in A$ ,  $x \neq c$ ,

and if  $\lim_{x \rightarrow c} f$  exists, then

$$a \leq \lim_{x \rightarrow c} f \leq b.$$

Squeeze Thm. Let  $A \subseteq \mathbb{R}$ , and

let  $c$  be a cluster point of  $A$ .

If  $f(x) \leq g(x) \leq h(x)$ , for all  $x \in A$   
 $x \neq c$ ,

and if

$$\lim_{x \rightarrow c} f = L = \lim_{x \rightarrow c} h, \text{ then } \lim_{x \rightarrow c} g = L$$

Recall that we proved the following Sequential Criterion

(p. 107)

Let  $f: A \rightarrow \mathbb{R}$  and let  $c$

be a cluster point of  $A$ . Then

the following are equivalent

(i)  $\lim_{x \rightarrow c} f = L$

(ii) For every sequence  $(x_n)$  in  $A$  that converges to  $c$  such

that  $x_n \neq c$  for all  $n \in \mathbb{N}$ ,

the sequence converges to  $L$ .

Ex. Let  $g(x) = \begin{cases} \sin\left(\frac{1}{x}\right), & x \neq 0 \end{cases}$

Let  $x_n = \frac{1}{\frac{\pi}{2} + n\pi}$  if  $n$  is odd in  $\mathbb{N}$

Clearly, if  $n$  is even

then  $\frac{1}{x_n} = \frac{\pi}{2} + n\pi$ , so

$\sin\left(\frac{1}{x_n}\right) = \sin\frac{\pi}{2} = 1$



Also, if  $n$  is odd, then

$$\sin\left(\frac{1}{x_n}\right) = -1. \text{ It is clear that}$$

$f(x_n)$  does not approach any

number  $L$ . Hence,  $f$  does

not have any limit  $L$ .